DSPM 850 TEST 3

LetA={q,s,u,v,w,Xx,y,z},B={q, s, Y, z},
C={v,w, XY, z}, and D = {s}. Specify the
following set.

1. BuD

2. AnB

For the compound inequality, give the
solution set in both interval and graph forms.

3. -32=7x+3and4x-5<-9

4. -3x+1=7o0r7x+3=-25

Graph the linear inequality in two variables.
5. 3x+y=3

6. x+2y=2

Graph the compound inequality.
7. x+y=2andy=2

8. dx<y+2o0ry<-2

Simplify. Assume that all variables represent
positive real numbers.

9. 3/;(18
10. - x12

Simplify the expression involving rational
exponents.

11. 641783

12. 1694

Write with radicals. Assume that all variables
represent positive real numbers.

13. mo/4

REVIEW WORKSHEET

Find the unknown length in the right triangle.
Simplify the answer if necessary.

14.

9

Solve the problem.

15. The length of the diagonal of a
rectangle is given by D =4[L2 + W2
where L and W are the length and
width of the rectangle. What is the
length of the diagonal, D, of a
rectangle that is 28 inches long and
24 inches wide? Round your answer
to the nearest tenth of an inch, if
necesssary.

Simplify. Assume that all variables represent
positive real numbers.

16. -134/6 +24/6
17. -9[17 - 3[17

Rationalize the denominator. Assume that all
variables represent positive real numbers
and that the denominator is not zero.

18, — 2 _

9-+/3
NG

5
19, ————
A11+3

Write the expression in lowest terms.
Assume that all variables represent positive
real numbers.

36 - 124/18
20, ——
32



Ly 30y A[3000y3
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Solve the equation.

22. AJ[q+5=8

23. A3x-9-9=0

24, A[x+7+5=x

25. A2x +15-x =6

Write the number as a product of a real
number and i. Simplify the radical
expression.

26. /-64
27. |-242

Add or subtract as indicated. Write your
answer in the form a + bi.

28. (6 +4i) - (-5 +1)
29. (5 - 8i) + (4 + 2i)

Multiply.
30. (9 +4i)(3 - 8i)

31. (7 - 6i)(4 - 4i)

Write the expression in the form a + bi.
6+ 2i
32.
9-3i

4 -4
5+ 31

33.
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~114/6

12417

45 + 5[3
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21.

22.
23.
24.
25.

26.
27.

28.
29.

30.
31.

32.

33.

30 + 104/30y
3

{59}
{30}
{9}

{-3}
8i
1112

11 + 3i
9 - 6i

59 - 60i
4-52i
8 2.

+ =i

15 5
4 16.

17 17
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